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m® Grammar and Vocabulary
76- ... we tried to stop him, he kept on............... .
1) As/ talk 2) However/ talking 3) While/ to talk 4) Although/ talking
77- The dishes ............... yet. Could you please wash them up.
1) have been not washed 2) have not been washed
3) are not being washed 4) had not been washed
78- Antarctica is covered by a huge ice cap ............... 70 percent of the earth’s fresh water.
1) contains 2) to contain 3) containing 4) which is containing
79- My back hurts. I ............... that heavy box up two flights of stairs yesterday.
1) should not carry 2) Should have not carry
3) should not be carrying 4) should not have carried
80- Her article is a/ an ......ceeeue... of the methods used in research.
1) discussion 2) instruction 3) competition 4) observation
81- The judges................ equal points to both finalists.
1) awarded 2) behaved 3) controlled 4) performed
82- We need to make changes in the................ for collecting taxes.
1) practice 2) involvement 3) mechanism 4) statement
83- The pilot ............... mainly on flying and spoke very little.
1) concentrated 2) transferred 3) distracted 4) experienced
84- For a long time after the accident, my sister had no ............... in her right leg.
1) expectation 2) movement 3) stretch 4) mood
85- | have................ a useful experience from doing that job for years.
1) guaranteed 2) guessed 3) guided 4) gained
86- | would like to have a/ an ............... reply to my proposal.
1) relaxed 2) reflected 3) immediate 4) previous
87- We were waiting ............... for my father coming back from Mecca.
1) smoothly 2) anxiously 3) personally 4) necessarily

mm Cloze Test

Why some very good students often fail exams was recently studied by a professor of psychology.
Professor Iris Fodor conducted some...88... on the anxiety of some students before taking exams. He
...89... that many students fail exams because they become ...90... nervous and can not think. ...91...,
although they have studied hard, they are afraid of whatever is on the exam. Therefore, those who
are ...92... forget everything they have studied.

88- 1) research 2) posture 3) training 4) procedure
89- 1) enhanced 2) rattled 3) stated 4) measured
90- 1) softly 2) interchangeably 3) exactly 4) extremely
91- 1) Even so 2) Because 3) Whether 4) Besides

92- 1) rural 2) useless 3) nervous 4) irrelevant
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mm Reading Comprehension

Passage (1) :

Dhaka, the capital of Bangladesh, stands on the bank of one of the channels of the Ganges-
Brahmaputra delta, about 100 kilometres (60 miles) from the sea. The city is also known as Dacca.
There are separate articles on the Ganges and Brahmaputra Rivers.

It is an ancient city with many monuments of the 17th-century Mogul period. The Lal Bagh camp
was begun by a son of the emperor Aurangzeb in 1684. There are more than 700 mosques, including
one built as far back as 1456. A Christian church was built by a Portuguese mission in 1677 at a time
when Dhaka was the capital of Bengal and a great centre of trade, attracting English, French, and
Dutch traders.

In the 18th and 19th centuries, Dhaka lost its importance as its chief trade, that is muslin (a soft
cotton fabric), declined and another town became the capital. In 1905, it became the capital of East
Bengal for a time, and in 1947, it became Pakistan’s eastern capital. When East Pakistan broke away
in 1971 and announced its independence as Bangladesh, Dhaka was one of the first places taken over
by the Pakistan army and one of the last to be surrendered by it.

The capital has fine modern buildings, including a university, many schools, an airport and hotels.
Many of the new buildings are grouped round the Ramna, a large park. An industrial area stretches
for 16 kilometres (10 miles) to the river port of Narayanganj. Dhaka is the industrial centre of
Bangladesh and the city has always been noted for its cottage industries.

93- What is the best topic for the passage?

1) Political history of Dhaka 2) Geological location of Dhaka
3) Dhaka in the 18th and 19th centuries 4) The history of Dhaka from past to present

94- Which statement about the passage is NOT true?

1) Dacca is an ancient city with so many 17th century monuments.

2) The Lal Bagh camp was begun by the emperor Aurangzeb in 1684.

3) There are more than 700 mosques, including one built in the 15th century.

4) The Christian church was built by the Portuguese when Dhaka was economically important.

95- According to the passage, the city of Dhaka has always been noticed for its ............... .

1) cottage industries 2) modern buildings 3) many schools 4) airport and hotels

96- What happened to Dhaka in the 18th and 19th centuries?

1) Its main product lost business.

2) It became the capital of East Bangal for a time.

3) It was the capital of Bangal and a great centre of trade.
4) It attracted English, French, and Dutch traders.

Passage (2) :

There must be many people who, either for lack of opportunity or of their own choice, did not go
to university and who, at a certain point in their lives, have regretted this gap in their education. At
this stage, few people could go to university even if they wanted, since they could not afford the time
off work. With the opening of the Open University, people are now able to take a university degree,
for the courses are especially designed so that you can study at home. However, you must have access
to a radio and a television set, for part of your course consists of two weekly programmes. One of
them is broadcast on the radio and the other on television, and they each last twenty five minutes.
The new university has not been in operation long enough to prove its success as a venture, but it

obviously opens up the possibility of a university education to a much wider section of the population
than has hitherto received it.
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97- According to the reading, most people who didn’t attend a university ............... .

1) wish they had done so 2) are happy having done so

3) had the opportunity to find a job 4) couldn’t find interest in attending university
98- According to the passage, the Open University is an opportunity for those who ............... .

1) like to watch TV Programmes

2) don't like studying at university

3) have completed their university but still unemployed

4) want to go to university but have no time to do that
99-According to the passage, the Open University............... .

1) hasn’t had many students so far

2) is not open to the people who don’t want to go out of their house

3) has proved that it is more advantageous than other universities

4) doesn’t have a long historical background but certainly has the advantage of providing education to

more people
100- The word “venture” near the end of the passage is closest in meaning to ............... .
1) pattern 2) gesture 3) project 4) guid




